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Initial setup

e Period: Dec 2004 + Jan 2005, will be
extended

e Reference run (no amsu-a assimilation) -
make bias corrections, check data flow
and form a basis for validation.

e Experiment run (with amsu-a
assimilation over ice) - Constant
emissivity = 1.0, use high channels (6-
10) only.

e Verify against EWGLAM stations
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e Total ice concentration
e MY ice concentration
(0-100%)

Leif’s emissivity values are
based on this ice information
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Get rid of ’wings’: Cloud contamination?

Calculated BT [K]
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Fit a (near) gaussian curve and find
threshold values

Amsu—a on noaal6 , channel 5 Mean difference. Nobs= 92134
RMN2=0.95 a0=8.38 al=0.962 mean diff= 0.309 , std= 0.839
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Problem: two peaks for low channels

Calculated BT [K]
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Emissivity model over ice

Calculated BT [K]
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Channel 5...

Channel 5 NO EMIS-MODEL
amsu-a on noaal5
R”"2=0.94 a0=16.857 al=0.925

Calculated BT [K]
220 225 230 235 240 245

T T T T T T
220 225 230 235 240 245

Observed BT [K]
Channel 5 WITH EMIS-MODEL

amsu-a on noaal5
R"2=0.98 a0=9.7 al=0.956

Calculated BT [K]

T T T T T T T
220 225 230 235 240 245 250

Observed BT [K]

Frequency

Frequency

2000

500 1000

0

1500 2500 3500

0 500

Mean difference
Nobs= 62402 NO EMIS model
mean diff= 0.458 , std= 0.862

2 -1 0 1 2

BTdiff [K] (OBSERVED - CALCULATED)

Mean difference. Nobs= 55619
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Lessons

e Bug in bias correction software - fixed

e Bug in pre-processing (ice information lost) -
fixed

e Should have comparable number of iterations -
to avoid false biases

e Cloud masking too simple. Is extended to all
channels with individual thresholds.

e Cloud detection depends on good emissivity
values
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Further plans...

e Fixed number of iterations (= 150)
e Use emissivities from Leif’s model.

e Include lower channels (4+5); same as
for open sea.
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Rms (hPa)
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Count

From 2004/12/01 DE:00: 0.00 to 2004/12/25 D0:00: 0.00

Sakion rame

1010 Andopa

1022 Bjornoya

1025 Tromae- Langnes
1001 Jan Mayen

1180 Ekirova lr

163 G her slalions

18370 Pamellaria
18280 & Maria o Leusa

7120 Rennes
112 ellions intotal

Fime [m-o)
4128
2927

Zad [m-o)
2,443
2937

Bias [m-o)
-2273
.9
-2.128

ARme [mo)
o022

Staion ame

1010 Andopa

1001 Jan Mayen

1025 Tramao- Langnes
1180 Shirova, er
18153 Capo Mele

162 Caher stalions
10 5. Mariad Lenca
FOF0 Reima
18320 Brindgi
18420 Cozzo Spadars
7120 Rennes

112 stalions inhokal

.

Courm Rme [m-o)

124 4.142
128 2972
128 2982
184 4.052
28 2825
1anaa E.ETE
124 1.585
128 1.520
128 1.514
128 1.492
128 1.283
132 2345

£ad [m-o)
2.437
2.923
2.2
2221
2.897
E.203
1.505
1.514
1.475
140
1.224
2.237

Bias [m-o)

Norwegian Meteorological Institute met.no

S FiFiiifisidisidfidsissd

ARme [mo]
0022
0.0
0.0
.01
0015
-0.073

-0.008
-0.008
-0.008
-0.007
-0.007

Ll



MSLP (m-o)
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Forecast ime (h)
From 2004/12/01 DE:00: D.00 to 2004/12/25 00:00: D.00

Laakon name Coum Rme [m-o] Sd{m-c]  Biae (m-o) &Rme [ma)
1010 Andoya 124 4128 2,443 -2273 o022
1022 Bjornoya 128 2927 2937 .9 0.020
1025 Tromae- Langnes 128 2,920 2227 -2.128 0,020
1001 Jan Mayen 128 2292 2278 -0.421 .0
1180 Skircva yr Ted 2.929 2214 =) .02
1030 her elalione 12138 2207 2280 -0.4E1 -0.072
18470 Pamelleria 173 1.504 1500 0102 0. O
18380 5. Maria d Lo 124 1.433 1.473 0273 -0.007
18420 Cogzo Spadaro 128 1.432 1335 0.2 -0.007
18320 Bri ncgi 128 1.430 1.445 0.2 -0.007
7120 Rennes 128 1.221 1.255 -0 -0.007
112 gtaticns inlctal 19382 2273 232 -0.472 r

Testing fixed number of iterations

MSLP (m-o)
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Forecast ime (h)
Sdaion name Coumm Fme [m-o) Sad[m-0] Bias [(m-o] ARme [mo]
1010 Andoya 124 4.142 2.437 2.298 0022
1001 Jan Mayen 128 2972 2.923 0825 0.0
1025 Tramao- Langnes 128 2982 2.2 2.181 0.0
1180 Shirowa her 184 4052 2221 2232 .01
18153 Capo Mele 128 2825 2.897 2422 0015
123 Caher stalione 1anaa E.ETE E.203 0538 -0.073
&0 5. Mariadi Leuca 124 1.585 1.505 0246 -0.008
FOF0 Reime 128 1.520 1.514 0,123 -0.008
18320 Brindgi 128 1.514 1.475 0344 -0.008
18420 Cozzo Spadars 128 1.492 140 0525 -0.007
7120 Rennee 128 1.283 1.224 -0.208 -0.007
112 ghalione inolal 192 2245 2.237 -0.520 X
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